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7. Megan’s father is driving Megan and 13 of her teammates
to a basketball game. Megan's father will have to make
several trips. His car can carry himself and 4 passengers.

Part A

How many players does Megan’s father need to take to the game?

Answer:

Part B

How many round trips must Megan’s father make?

Answer:

Use your pattern blocks to help you solve this problem.
Nadia used pattern blocks to draw half of a design. The dotted

line shows the line of symmetry. Compleie the design below
by tracing around your pattern blocks.
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